
 Today’s Number 1. Simplify       2.  Factors 

3. Geometry   4. Measurement   

5. Product/Quotient  6. Place Value  

7. Decimal 8. Fraction  

9. EOG REVIEW 

141            _____ 
           100 

A desk drawer is a rectangular 
prism. It has a volume of 3,528 
cubic inches. The base has an 
area of 252 square inches. 
Explain how you would find 
the height? 

. 

Divide 84 by 1,000 

Which number has a different 
value than the others? 
 
14/4                 3   2/4 
 
3 ½          40/12 

What is 1/10 the value of 0.01? 

Which equation shows the result of 138 ÷ 17? 
a) 138 = 17 x 8 + 2       b) 138= 24 x 5 + 17      c) 138 = 30 x 4 + 17 

True or False: 
 Every rhombus is a rectangle. 
 
Explain your answer! 

Kaleigh has 288 inches of 
ribbon. She wants to cut the 
ribbon into 25 inch pieces. How 
many 25 inch pieces will she be 
able to make? 


